28029 L | WA R

7= miiEA

M

Rtk 66 MEBEHER,

WMEMBER

BLALIE,

I

TABFEZEH4,

BR:

BEAEAALMEE —MNESH , BER RN 2 E 3.5mm , EABRTHE
IR R T,

BESBE :
mER , M FhA&s 100 °C,
REET :

1) PEEHHE
2) B3 {REFXE B B

28029-119014 A 19 G1/4 4 7 9 17
28029-122038 A 22 G3/8 4 7,5 10 18
28029-128012 A 28 G1/2 4 7,5 1" 24
28029-134034 A 34 G3/4 5 9 11 30
28029-142100 A 42 G1 5 10,5 12 36
28029-151114 A 51 G11/4 5 12 13,5 42
28029-1191415 A 19 M14X1,5 4 7 9 17
28029-1211615 A 21 M16X1,5 4 7,5 10 18
28029-1261815 A 26 M18X1,5 4 7,5 10 21
28029-1282015 A 28 M20X1,5 4 8 10 24
28029-1282215 A 28 M22X1,5 4 8 1" 24
28029-219014 B 19 G1/4 4 7 9 17
28029-222038 B 22 G3/8 4 7,5 10 18
28029-228012 B 28 G1/2 4 7,5 1" 24
28029-234034 B 34 G3/4 5 9 11 30
28029-242100 B 42 G1 5 10,5 12 36
28029-251114 B 51 G11/4 5 12 13,5 42
28029-2191415 B 19 M14X1,5 4 7 9 17
28029-2211615 B 21 M16X1,5 4 7,5 10 18
28029-2261815 B 26 M18X1,5 4 7,5 10 21
28029-2282015 B 28 M20X1,5 4 8 10 24

© norelem www.norelem.com



